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@ 4xy+ 8xz (xy)
® 5a?b—Tab® (a*b?)

® 3a? + 6b> (3ab)
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@Sab + 3ac + 12ad (3a)

@ 3x+6x% +9x% (3x%)

@ 4x(y + 22)

@ 3a(b+ ¢ + 4d)
® ab(5a - Tb)

@ 3x(1 + 2x + 3x?)
® 3(a® + 2b?)




2.

K= 6xta= (v-b)? & WEL ), ab ] S To}elel.
=3

[ 2
> =g ab=27

x2—6x+a=(x-3)2=x2-6x+9=(x—0)?
“a=9,b=3
" ab=27




3. 12ax? - 12axy + 3ay? & A5E8|51H?

@ 12(ax — ay)? @ 6a(x—y)? ® (6ax —ay)?

@ 3a(x-y)? ©3a(2x -y)?

12ax? — 12axy + 3ay* = 3a(4x? — 4xy + y?)
= 3a(2x - y)?




2x -1

ul
RO

—~
—
|
=
N
N~—
~—
i
l__l
=
N
SN~—
AN~
=
—~ |
R
| &
~—
N
51
&
l_l
[
[\ RS
[
N N
==
0 <




@D 2x+38 @)2x +2 ® 2x+1

@ 2x-6 ® 2x-38

B

(x+4)(x-2)-7=x"+2x-15
=(x+5)(x-3)

L(x4+5)+(x=-3)=2x+2




